Matematika 6. ročník (26.04 - 30.04.2021)

 1. Převeď na minuty

2° 12´ =....................		3° 25´ =....................		5° 30´ =....................		40° 15´ =.....................
20° 4´ =.....................		60° 10´ =..................		15° 35´ =....................		28° 40´ =....................
17° 50´ =....................		45° 35´ =.....................		22° 22´ =.....................		50° 17´ =....................
 2. Převeď na stupně

360´ =....................		480´ =....................		720´ =....................		900´ =.....................
180´ =.....................		660´ =.....................		248´ =....................		145´ =....................
310´ =....................		556´ =.....................		432´ =.....................		743´ =.....................

3.Vypočítej
5° 20´ + 27° 16´ =....................		15° 30´ + 8° 25´ =....................		9° 12´ + 16° 38´ =....................
3° 30´ + 2° 40´ =...................		7° 36´ + 9° 51´ =...................		24° 45´ + 56´  =..................
7,5° + 3° 17´ =......................		3,4° + 7,1° =......................		48° 38´ + 19,5° =....................

4.Vypočítej
45° 20´ – 17° 16´ =..................		15° 34´ –8° 25´ =....................		17° 42´ –9° 18´ =....................
27° – 30´ =....................			35° – 28´ =....................			48° 20´ – 30´ =....................
27° 30´ – 3° 50´ =...................		36° 25´ – 18° 29´ =.................		48° 19´ – 19,5° =............
5. Vypočítej
45° 20´ . 2 =............................ 		15° 30´ . 2 =............................		2 . 17° 18´ =............................
35° 40´ . 2 =..........................		28° 35´ . 2 =..........................		2 . 56° 49´ =..........................
27° 15´ . 3 =............................		36° 25´ . 3 =............................		3 . 19,5° =............................
45° 20´ . 2 =............................		15° 30´ . 2 =............................		2 . 17° 18´ =............................
35° 40´ . 2 =..........................		28° 35´ . 2 =..........................		2 . 56° 49´ =..........................
27° 15´ . 3 =............................		36° 25´ . 3 =..........................		3 . 19,5° =............................


6.Vypočítej
44° 20´ : 2 =............................		76° 30´ : 2 =............................		94° 10´ : 2 =............................
15° 48´ : 2 =..........................		27° 36´ : 2 =..........................		39° 18´ : 2 =..........................
36,5° : 2 =............................		17,5° : 2 =............................		49,5° : 2 =.........................
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